Eoxan Caode: 13046
Sub. Code: 9218
2053
B. Voe, (Retail Management) Sixth Semester
RSC-603: Financial Management for Retail

Max. Marks: %0
Time allowed: 2 Hours

[ ] 1 i ection- drich iy
NOTE: Attempt five questions in all, including Question fo. f. f.\f; r:an/:}J f':,,,m;ﬂm
compulsory and selecting  one question from cach Section B-F. f
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SECTION - A
1. Attempt any four of the following:-

o Iiflerennate between proft maximization and wealth maximization.

b What s weighted average cost of capital?

¢ What is net present value method of capital budgeting,

d A firm has sales of Rupees 10,00,000 variable cost of Rs.5.00,000 & fixed cost Rs.
SO & debt of ReS00,000 a1 10% rate of interest, What are the operating, financial &
composite leverage?

€ Acompany raised loan of Rs.3,00,000 by 10% debentures issued at 10% discount for «
penod of ten years, underwriting costs are 2% and tax rate is S0%. Calculate cost of debt
after tax

f. What 1s stable dividend policy?

SECTION -B

Q2 What is financial management? Explain the need and scope of financial management.
Q3. What s the time value of money? Explain the compounding techniques of ume vatue of
money and with their applications.

SECTION-C

Q4. ABC Corporation has the following book value capital structure:

Particulary o TAmountinRupes

Equity Caputal at FV Rs. 10 per share 20,00,000 = ‘ S

, Preference Capital (Rs 100 per share) &UU_.Q_DU_______ e e '

Debentures (Rs. 100 per share) e i 000 L

| Tota — _3[_'_:E],UU(|' 1
The market [‘ML':'_.\ t:l'-ll-l.'_:‘ -_._(:Eilft:_::r o e e ———

Debentures Rs, 108 per debenture

Lquity Shares  Rs. 24 cacli

Preference Shares Rs. 110 per share

Additional Intormation

a Rs 100 debenture redeemable at par, 10% coupon rate, 4% floatstion cost and 10 years
matunny
b. R

S 100 preference share redeemable at par, 8% Coupon i
Years maturiy

ale, 29 lomation cost and L0

¢, Equity share has Rs 4 floatation cost and ernedted dividend Rs 1 with growth rate ot S
d. Corporate 1ax rate applicable is 50%

Calculate weighted average cost of capital or the basis of book value weights and market
vilue weights.
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Q5. ABC Company is considering two new machines that .'-.-.hnu.hl produce Cﬂ"ﬁid“ml’flc cof‘:f
savings in its assembly operations. The COSt of .r.:;w.h machine is 1125.15'0.,(100 and- |1c:l'l?cr- .1.“
L‘XPC‘L::L‘I.] (o have a salvage value at the end “ll A d-year uscful l'lf'l}. I'he working capital
requirement is Rs. 30,000, The Company's rffqun-cd rate of return is lf{”n :'mt_l lhf:‘ company
prefers that a project return its initial outlay within the first half of the project’s life. The annual
after-tax cash savings for cach machine ar¢ provided in the following table:

 Year | Machine A | Machine B
1 50000 80000

2 50000 40000

3 50000 60000
E 50000 20000

Required:

a. Compute the payback period for each machine
b. Compute the net present value for each machine.
¢.  Which machine should be purchased?

SECTION -D

Q6. What factors affect the capital structure decision of the firm? Explain the Net Operating
Income Approach. |

Q7. What are the various sources of finance? Explain in detail.

SECTION -E

Q8. What is working capital rhanagement? Explain various methods of cstimating working
capital requirements.

Q9. Explain the relevance and irrelevance theories of dividend decision.
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